BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNBEEFHFS) SH45E6H1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1932 | 4,081 24 16 11 18 13 17 13 19 21 16 22 18
ENY = 2TH 780 1,665 5 3 6 8 2 5 8 8 8 5 10 7
EQNY S 3TH 1410 | 2714 10 5 6 3 13 8 7 6 9 10 14 7
EVIY = 4TH 1,824 | 3,532 9 10 16 8 12 16 13 9 13 17 10 15
H/INE 5TH 2139 | 3,775 13 8 15 11 16 14 12 13 9 14 17 13
H/IMNE 6TH 1,827 | 3,231 6 6 7 8 11 11 12 13 11 9 10 3
mINE 1TH 3112 | 5221 17 15 17 12 20 13 12 11 14 16 16 19
mINE 2TH 1,302 | 2,171 7 10 7 7 6 10 7 2 10 3 8 9
m/IhNE 3TH 2,868 5,165 16 20 17 1 19 19 15 16 17 10 21 13
mINE 4TH 1,803 | 3,239 10 11 10 4 6 8 8 8 6 11 10 6
/NG 5TH 2,147 | 3,747 17 13 14 6 7 13 12 14 14 9 9 8
mE/INE 1TH 999 | 2,116 7 6 8 12 7 7 8 7 6 5 8 7
mE/NhNE 2TH 1,706 | 3,381 5 3 5 3 6 9 7 4 5 11 10 4
m/NhNE 3TH 1,759 | 3,372 12 10 11 6 17 7 23 10 15 12 15 12
mE/NhNE 4TH 1,599 | 3,198 11 7 6 7 14 8 9 8 8 7 11 11
m/NhNE 5TH 2,023 | 3,766 10 8 13 16 14 8 20 13 14 12 16 12
mE/NhNE 6TH 2419 | 3,943 10 9 6 7 7 10 12 8 12 9 11 9
mE/NhNE 7TH 3254 | 5480 12 15 13 9 13 15 22 15 13 16 20 20
m/NhNE 8TH 2,079 | 3527 23 13 9 9 15 11 16 11 18 9 6 9
d/hE 1TH 1,371 2,358 1 7 8 5 7 6 5 6 8 6 5 5
d/hE 2TH 2,937 | 5,320 16 7 15 15 14 19 12 23 22 19 22 17
d/hE 3TH 1,354 | 2515 8 7 14 4 10 7 8 12 10 4 9 12
d/hE 4TH 2,310 | 4468 17 16 14 10 24 22 20 20 16 19 16 26
d/hE 5TH 1,746 | 3,046 16 10 10 8 8 9 12 7 7 15 5 9
d/hE 6TH 2514 | 4584 16 16 13 9 12 10 13 14 15 10 25 23
d/hE 7TH 1,505 | 3,269 13 12 15 20 23 7 16 16 18 13 14 20
dt/ha 8TH 1,684 | 3,688 15 11 7 14 12 14 10 11 19 18 19 13
&8 52,403 | 96,572 326 274 293 250 328 303 332 304 338 305 359 327
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH45E6H1H
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 18 18 16 16 16 26 12 22 22 17 17 17 18 20 20 15 21 23 21 23
HING 2TH 10 5 7 4 8 7 9 6 4 8 2 4 9 9 7 10 7 6 11 10
ENY= 3TH 11 8 11 15 11 10 14 10 10 14 6 9 17 10 16 11 16 12 10 9
HING 4TH 14 16 23 12 13 20 14 19 17 16 9 18 10 10 11 17 16 12 10 10
EXINY = 5TH 12 12 17 10 10 12 19 9 15 6 11 11 13 12 9 8 7 10 6 14
ENY= 6TH 12 5 12 12 11 10 2 18 11 8 13 11 17 10 8 12 14 16 6 13
NG 1TH 20 14 15 17 15 17 16 15 18 12 15 14 17 18 23 13 25 10 23 9
NG 2TH 5 7 2 4 13 6 7 2 6 3 7 5 10 12 4 8 7 5 7 3
NG 3TH 12 10 18 14 15 19 15 14 16 13 12 23 23 23 18 22 21 23 15 19
NG 4TH 10 9 5 11 8 10 7 15 14 9 9 7 6 11 6 9 15 18 12 7
NG 5TH 15 11 15 9 9 13 7 7 15 6 15 12 17 5 15 18 17 20 12 18
mE/INE 1TH 5 5 12 6 6 8 5 8 11 8 15 6 10 5 12 15 7 9 12 13
mE/NhNE 2TH 14 9 12 12 14 7 7 12 10 14 15 9 12 18 12 15 15 17 10 16
m/NhNE 3TH 13 8 15 15 7 9 20 16 12 12 20 22 13 11 19 11 20 6 20 10
mE/hNE ATH 13 14 16 11 9 16 18 19 12 16 15 10 15 21 15 18 10 17 15 7
mE/NhNE 5TH 16 10 22 12 7 12 15 12 13 17 6 11 17 8 15 11 9 17 12 11
mE/hNE 6TH 6 7 14 10 8 12 11 12 7 7 17 8 8 14 5 5 9 9 7 10
m/hNE 7TH 21 14 16 25 23 13 10 17 22 14 11 15 16 13 17 13 11 9 11 14
m/hNE 8TH 14 11 12 14 15 9 11 8 8 8 6 10 7 6 10 8 9 2 7 7
d/hE 1TH 12 6 8 8 10 8 7 8 8 8 9 8 14 10 6 7 11 12 7 8
d/hE 2TH 18 16 24 18 23 17 31 9 14 16 23 15 17 20 23 21 19 22 27 17
d/hE 3TH 13 9 6 8 1 3 10 6 5 7 9 9 10 9 7 9 7 7 12 6
d/hE ATH 23 13 17 13 26 14 17 20 26 11 12 14 16 19 22 19 24 15 22 16
d/hE 5TH 10 11 11 6 12 9 12 8 11 10 10 10 4 10 10 12 8 7 11 9
d/hE 6TH 24 10 14 17 13 13 14 18 22 20 14 15 12 14 24 13 11 15 23 16
d/hE 7TH 13 24 12 12 16 15 22 15 15 9 16 14 13 9 16 14 14 19 13 26
dt/ha 8TH 10 21 16 17 14 17 25 18 17 24 19 23 13 22 16 20 11 24 22 23
=X 364 303 368 328 343 332 357 343 361 313 333 330 354 349 366 354 361 362 364 344 \
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNBEEFHFS) SH45E6H1H
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 21 18 21 15 15 23 24 26 20 22 27 25 27 21 21 27 27 20 25 27
ENY= 2TH 9 7 6 8 7 11 7 10 12 5 11 16 11 9 9 14 6 13 11 7
ENY= 3TH 5 15 9 13 11 14 12 11 17 14 13 16 22 11 17 13 18 23 20 21
HING 4TH 10 9 19 14 21 8 18 14 12 24 13 34 20 28 18 31 24 24 28 29
HINE 5TH 11 13 8 17 13 13 12 17 15 16 22 24 17 24 28 29 34 36 36 44
HINE 6TH 13 7 11 7 13 14 24 13 14 13 22 23 25 25 30 26 23 19 23 25
NG 1TH 17 13 20 15 12 25 13 16 19 26 29 24 28 33 39 30 48 45 42 35
NG 2TH 2 8 7 7 7 3 9 7 6 4 11 15 17 17 16 21 18 22 17 12
m/INE 3TH 17 16 17 15 21 26 24 26 16 20 22 31 41 25 33 42 34 30 44 43
NG 4TH 11 5 13 19 10 12 11 11 22 14 21 19 19 19 19 15 35 34 28 29
NG 5TH 15 19 18 25 20 21 13 16 24 16 21 18 30 17 23 16 29 24 30 29
mE/INE 1TH 9 13 8 11 11 14 10 9 10 16 11 11 16 11 18 7 8 18 14 12
mE/NhNE 2TH 18 13 19 22 18 18 13 16 20 16 18 22 17 22 20 12 15 27 20 27
m/NhNE 3TH 11 11 19 15 16 12 10 16 18 8 16 13 22 17 21 16 26 26 27 17
mE/hNE ATH 13 15 15 9 18 11 15 14 19 15 23 12 23 11 15 16 13 19 23 16
mE/NhNE 5TH 14 15 19 12 14 13 18 26 23 14 20 17 26 17 31 26 24 15 32 31
mE/hNE 6TH 9 5 11 9 7 14 9 13 13 19 13 19 28 33 33 25 33 42 39 33
m/hNE 7TH 17 18 15 13 10 17 22 16 24 28 30 38 32 38 50 37 36 34 42 49
m/hNE 8TH 9 4 7 14 8 12 13 16 7 10 23 25 20 23 35 32 28 27 39 27
d/hE 1TH 6 10 2 6 5 14 7 16 6 9 8 17 19 13 19 12 15 22 21 23
d/hE 2TH 14 17 25 16 19 28 16 30 32 31 17 37 31 38 39 36 45 35 44 38
d/hE 3TH 10 11 9 3 7 14 16 10 11 15 15 17 21 19 12 27 26 24 21 26
d/hE ATH 19 16 18 16 22 20 21 26 15 14 27 16 27 18 31 33 24 29 35 28
d/hE 5TH 7 8 11 10 10 9 11 12 15 10 18 18 13 14 23 19 24 21 27 28
d/hE 6TH 16 8 10 19 15 22 16 15 23 27 25 21 31 33 43 38 38 36 45 31
d/hE 7TH 12 15 14 21 18 16 14 18 20 15 20 16 19 18 23 18 17 22 19 21
dt/ha 8TH 18 30 18 16 23 14 32 18 30 15 21 20 16 24 12 17 22 19 12 17
&5 333 339 369 367 371 418 410 438 463 436 517 564 618 578 678 635 690 706 764 725
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNBEEFHFS) SH45E6H1H
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 17 28 24 24 30 23 29 22 25 20 24 26 26 30 19 18 29 23 28 30
HING 2TH 13 6 7 5 13 14 7 6 4 10 8 8 6 8 8 8 7 7 14 8
RING 3TH 22 21 16 17 16 18 15 14 14 5 11 21 17 13 24 19 14 14 16 12
XN = 4TH 14 19 24 26 19 23 17 26 25 20 15 17 18 21 32 15 23 25 24 23
HINE 5TH 28 28 31 32 27 22 37 28 29 28 24 33 32 25 25 23 28 21 19 31
HINE 6TH 39 21 23 26 24 16 30 18 22 15 14 31 23 20 25 13 19 21 25 21
NG 1TH 41 44 40 36 50 57 48 49 48 44 49 34 29 30 32 32 33 33 39 38
LN = 2TH 17 18 22 21 22 18 19 11 19 19 18 20 26 12 21 17 20 13 20 11
NG 3TH 39 46 30 34 37 42 45 40 35 22 29 45 38 27 31 33 44 29 29 36
N = 4TH 31 20 30 24 24 17 35 20 28 26 26 19 23 16 25 26 24 15 21 19
NG 5TH 30 27 27 33 33 24 35 19 39 28 26 27 18 27 32 29 32 28 33 28
m/hNE 1TH 11 12 13 9 12 15 15 8 9 9 11 5 13 13 8 9 13 3 11 11
mE/NhNE 2TH 18 9 15 14 18 15 11 16 19 19 12 9 9 15 16 12 18 10 15 21
m/NhNE 3TH 24 23 26 29 21 13 20 23 16 15 22 21 24 14 17 12 14 21 11 19
mE/hNE ATH 16 18 17 11 19 21 11 11 15 19 25 14 15 11 14 18 20 21 15 11
mE/NhNE 5TH 28 24 27 13 38 22 21 18 22 16 13 19 21 21 27 26 26 28 31 19
mE/hNE 6TH 32 37 41 30 39 32 25 26 37 25 34 31 34 29 31 26 42 22 30 31
m/hNE 7TH 35 41 57 38 41 36 34 44 41 35 42 43 53 36 36 36 43 36 33 28
m/hNE 8TH 31 30 35 36 35 23 27 35 33 34 37 25 19 22 23 26 22 15 30 23
d/hE 1TH 19 19 27 20 16 26 16 21 31 12 15 18 17 22 19 16 17 17 19 20
d/hE 2TH 36 36 42 38 47 29 35 37 31 36 28 32 27 29 44 36 17 40 34 32
d/hE 3TH 26 22 16 18 17 25 22 16 22 18 23 13 6 23 17 13 20 19 17 13
d/hE ATH 44 22 29 31 38 29 27 23 29 27 24 30 43 25 28 18 27 29 36 26
d/hE 5TH 25 29 22 21 39 17 23 26 24 22 16 16 21 24 24 17 29 23 25 17
d/hE 6TH 29 30 32 35 22 30 32 27 24 28 28 40 39 28 27 30 33 32 33 32
d/hE 7TH 16 27 21 16 24 26 25 17 16 15 23 22 16 14 24 22 26 20 16 26
dt/ha 8TH 15 25 13 14 13 20 19 17 26 16 20 15 17 15 22 21 26 14 16 16
&5 696 682 707 651 734 653 680 618 683 583 617 634 630 570 651 571 666 579 640 602
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E6H1H
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 33 18 32 14 27 26 22 25 21 29 26 18 29 32 19 27 28 25 33 29
HINE 2TH 9 12 14 7 7 10 10 11 7 6 10 2 4 7 15 9 15 11 14 15
ENY= 3TH 13 26 19 15 16 11 23 20 12 11 15 19 14 17 17 19 22 17 19 20
HINE 4TH 21 30 28 25 28 20 38 37 26 26 19 18 23 21 31 17 22 24 22 27
EXINY = 5TH 25 21 31 36 27 20 29 34 24 27 33 19 34 17 26 15 33 31 30 29
ENY= 6TH 22 23 22 15 22 14 20 17 25 18 29 20 16 16 15 15 22 26 26 17
NG 1TH 46 42 54 44 35 44 42 31 41 37 38 28 35 29 34 44 50 39 39 37
NG 2TH 12 18 19 11 9 13 12 19 18 21 15 11 20 14 20 14 18 13 15 18
m/IhNE 3TH 36 45 32 36 45 33 35 42 27 27 42 38 36 27 34 37 28 26 49 33
NG 4TH 24 17 13 18 28 22 17 14 20 11 21 23 16 29 31 16 21 20 20 21
m/INE 5TH 30 31 24 14 22 18 26 22 21 28 26 30 20 21 20 28 18 23 29 22
mE/INE 1TH 7 9 16 22 15 13 10 6 14 12 13 10 14 10 11 11 16 12 18 16
mE/NhNE 2TH 21 20 21 16 19 12 15 12 14 9 18 9 20 23 18 16 22 20 19 20
m/NhNE 3TH 23 21 26 17 20 21 25 28 24 26 19 22 26 27 20 23 25 17 28 28
mE/hNE ATH 23 20 18 16 12 14 26 23 18 16 22 19 24 18 25 19 20 25 26 30
mE/NhNE 5TH 22 25 28 30 23 27 23 26 17 23 26 21 29 18 24 24 20 24 30 20
mE/hNE 6TH 34 16 36 28 20 11 24 31 25 19 15 20 25 19 23 18 31 24 34 18
m/hNE 7TH 34 33 37 34 52 33 35 33 44 34 45 32 43 30 39 41 42 31 48 40
m/hNE 8TH 24 21 32 18 35 26 27 28 24 26 21 19 33 24 18 22 34 23 25 28
d/hE 1TH 15 11 17 10 19 13 14 20 10 16 20 17 25 21 18 21 20 14 16 10
d/hE 2TH 32 24 32 36 42 34 42 38 34 31 25 31 37 25 39 38 44 33 38 33
d/hE 3TH 24 7 11 27 18 17 19 14 14 16 21 13 12 17 12 13 18 20 22 13
d/hE ATH 39 29 34 21 29 35 24 25 33 31 32 21 35 28 35 22 28 35 25 25
d/hE 5TH 17 14 24 14 15 15 22 18 14 20 21 21 18 16 19 13 20 20 31 24
d/hE 6TH 23 37 30 34 34 28 36 36 34 25 33 28 27 28 33 25 35 33 33 30
d/hE 7TH 27 16 22 24 17 17 23 17 29 16 19 17 23 27 30 19 23 23 22 21
dt/ha 8TH 17 20 21 27 22 17 15 23 26 26 14 29 27 34 33 25 28 25 30 26
&5 653 606 693 609 658 564 654 650 616 587 638 555 665 595 659 591 703 634 741 650 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) SH45E6H1H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 x 5 % 5 % 5 = 5 = 5 = 5 % 5 X 5 = 5 g

QY= 1TH 30 32 37 34 45 44 36 26 42 30 39 32 31 34 35 29 40 26 23 24
QY= 2TH 18 11 18 16 11 13 25 19 20 18 12 15 8 10 12 17 21 15 18 12
ENY= 3TH 20 22 23 26 19 21 28 26 33 23 28 19 23 22 18 19 26 19 22 18
Y= 4TH 20 18 19 25 24 30 23 16 31 34 29 22 24 19 24 19 29 26 10 27
HINE 5TH 35 30 22 23 23 27 33 25 22 13 31 28 27 26 33 29 24 30 23 13
HINE 6TH 29 27 28 32 27 22 23 22 25 23 23 17 23 19 35 32 22 25 17 18
NG 1TH 43 45 39 52 52 41 40 38 52 56 45 38 49 46 38 47 34 35 26 31
m/Ng 2TH 15 15 18 15 22 17 26 19 22 24 25 10 24 15 13 17 15 14 13 15
m/hE 3TH 24 35 41 43 25 42 60 36 47 45 44 34 43 37 39 42 40 36 43 40
NG 4TH 27 22 25 21 23 24 29 25 25 34 24 24 33 34 26 26 20 29 34 27
m/NE 5TH 26 27 40 32 29 28 34 34 36 43 31 37 30 36 36 28 45 31 26 24
m/hE 1TH 12 10 21 20 19 19 21 16 23 22 21 19 29 23 25 23 24 16 22 18
B S 2TH 18 20 38 25 33 45 36 34 32 43 29 34 29 24 28 28 22 19 40 33
B S 3TH 27 17 25 32 22 31 33 27 33 22 35 29 20 16 28 34 30 29 31 30
B ATH 29 26 29 27 30 24 32 30 30 21 38 23 23 25 31 11 28 27 21 24
B S 5TH 35 17 23 21 25 23 41 25 36 37 21 26 32 39 34 36 35 24 30 22
B 6TH 24 31 29 20 30 25 23 33 31 19 29 32 26 30 33 30 28 29 34 28
B S 7TH 42 29 56 32 54 39 49 46 43 53 57 44 51 37 46 48 41 39 44 49
B 8TH 35 31 32 22 31 31 31 35 40 36 24 20 33 20 26 36 25 23 21 22
d/hE 1TH 16 12 23 18 19 13 24 15 20 27 17 14 16 20 17 23 19 25 15 11
d/hE 2TH 40 44 42 40 41 43 42 46 44 44 49 47 38 37 45 29 43 40 44 45
d/hE 3TH 14 17 23 10 20 17 15 10 21 16 30 18 22 18 14 16 16 23 11 17
d/hE ATH 37 39 45 24 39 29 42 35 45 39 49 29 41 29 31 35 32 39 29 37
d/hE 5TH 36 20 20 23 21 20 26 23 22 20 31 20 23 14 26 17 14 25 21 18
d/hE 6TH 31 29 33 38 44 21 40 27 39 35 49 36 40 39 58 31 33 29 26 32
d/hE 7TH 16 16 23 21 32 35 29 24 32 25 29 30 34 21 22 9 13 26 29 17
dt/ha 8TH 21 26 42 28 21 37 38 40 35 26 41 34 36 34 32 29 26 23 30 27
&5 720 668 814 720 781 761 879 752 881 828 880 731 808 724 805 740 745 722 703 679
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E6H1H
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 24 17 28 29 23 26 34 27 24 19 33 17 17 23 20 22 23 23 19 13
ENY= 2TH 9 7 13 13 9 11 13 6 9 5 15 9 9 6 11 6 7 9 6 16
HINE 3TH 27 15 22 18 18 15 25 22 21 15 10 14 12 13 15 16 15 10 12 12
EXINY = 4TH 28 25 31 23 22 21 24 20 25 18 11 14 18 13 21 16 17 21 18 14
HINE 5TH 32 25 16 23 29 29 13 33 25 25 30 29 29 25 18 20 22 15 23 12
HINE 6TH 22 25 21 27 27 18 16 20 21 15 22 19 11 17 24 24 18 18 16 16
NG 1TH 31 26 43 43 41 38 35 25 22 35 29 29 26 26 35 19 27 20 31 18
LN = 2TH 15 11 16 12 14 13 16 10 13 11 11 12 6 11 12 12 7 4 12 10
NG 3TH 40 41 43 30 34 35 39 45 35 21 15 24 18 33 27 30 38 30 31 23
NG 4TH 31 16 25 21 27 21 23 16 21 19 16 12 23 25 21 18 12 17 25 13
NG 5TH 29 31 26 34 28 36 21 17 28 23 18 23 25 21 30 13 22 12 25 15
m/INE 1TH 19 22 16 20 18 15 13 12 9 11 16 15 11 7 8 10 13 7 9 6
mE/NhNE 2TH 20 22 29 33 29 21 18 24 23 15 32 21 13 20 15 19 14 10 21 9
m/NhNE 3TH 32 22 33 22 17 17 25 19 35 19 19 18 15 21 25 13 16 18 21 12
mE/hNE ATH 20 20 28 25 21 22 26 17 19 20 23 7 13 20 13 17 24 20 21 16
mE/NhNE 5TH 32 19 22 32 37 31 24 36 26 24 30 22 33 17 16 30 20 24 28 19
mE/hNE 6TH 30 19 33 23 26 20 24 30 27 26 26 24 23 21 31 20 22 22 19 24
m/hNE 7TH 33 30 39 33 44 37 43 19 31 33 38 30 33 31 35 27 27 25 23 28
m/hNE 8TH 20 28 24 16 23 17 24 17 22 22 21 24 31 19 17 21 18 23 14 13
d/hE 1TH 17 14 15 6 22 16 6 16 12 13 16 12 7 15 7 16 20 17 13 11
d/hE 2TH 31 38 45 47 42 48 32 30 34 32 35 35 32 30 32 26 22 32 29 26
d/hE 3TH 19 18 15 13 22 12 27 17 14 13 10 18 12 8 10 7 12 14 14 9
d/hE ATH 20 35 31 25 23 32 41 31 27 19 20 22 29 26 24 19 25 15 28 20
d/hE 5TH 13 18 22 21 22 17 18 25 16 16 18 24 16 17 23 11 15 22 19 18
d/hE 6TH 32 20 27 22 33 25 23 24 31 26 30 27 21 20 31 26 34 24 29 24
d/hE 7TH 23 22 15 14 18 13 18 13 14 20 21 16 21 27 21 13 9 18 21 5
dt/ha 8TH 22 26 27 19 28 22 35 21 25 23 21 23 18 16 20 17 26 19 22 11
&5 671 612 705 644 697 628 656 592 609 538 586 540 522 528 562 488 525 489 549 413 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E6H1H
R 667% 677% 687% 697% 705% % 125% 135% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 20 15 21 22 14 21 20 16 24 18 19 32 31 25 21 24 25 23 18 31
HING 2TH 10 4 11 10 12 6 7 9 11 6 6 4 14 10 8 14 16 20 8 7
ENY= 3TH 14 9 13 6 20 14 12 8 11 6 19 16 13 22 22 22 12 22 15 13
HING 4TH 16 15 17 21 15 21 16 18 17 19 24 15 19 15 34 31 26 20 24 25
HINE 5TH 13 15 19 20 22 18 17 19 17 24 19 23 27 27 27 32 28 32 28 21
HINE 6TH 16 14 16 20 19 16 16 20 24 9 23 25 16 23 21 27 23 28 17 32
NG 1TH 31 25 22 32 22 19 29 25 32 34 27 32 16 41 31 29 35 31 34 39
NG 2TH 11 20 12 8 12 11 8 10 28 7 11 15 7 9 14 17 16 15 18 13
NG 3TH 25 21 27 32 32 23 28 24 31 30 41 33 44 26 32 46 31 35 21 36
NG 4TH 19 17 20 21 21 12 17 22 13 16 16 18 12 26 25 27 20 21 21 21
NG 5TH 13 27 20 22 13 12 23 20 23 18 21 19 22 16 27 20 22 34 22 19
m/hNE 1TH 10 12 12 12 9 8 12 9 10 9 11 10 16 11 9 12 14 10 7 11
mE/NhNE 2TH 14 9 16 16 11 19 20 26 13 13 26 29 22 26 25 28 31 34 26 44
m/NhNE 3TH 18 16 19 10 17 18 16 24 17 14 16 14 17 21 11 12 33 26 18 15
mE/hNE ATH 16 15 14 16 16 20 19 22 15 15 18 21 15 17 27 24 17 29 14 22
mE/NhNE 5TH 22 20 14 15 22 18 30 18 23 20 18 24 23 21 24 17 30 19 26 20
mE/hNE 6TH 20 20 30 21 22 22 28 24 19 26 26 25 27 39 40 27 33 32 19 30
m/hNE 7TH 34 21 15 21 21 23 20 40 31 24 35 31 32 51 34 44 41 42 28 36
m/hNE 8TH 16 17 21 12 24 21 18 12 18 19 25 22 17 17 22 16 21 21 17 29
d/hE 1TH 17 14 8 14 17 14 17 10 6 14 13 14 13 20 14 22 14 22 10 11
d/hE 2TH 22 29 31 35 28 27 21 38 32 36 36 31 47 49 43 28 34 37 33 31
d/hE 3TH 10 20 14 12 9 9 13 12 15 18 11 20 21 20 29 10 17 22 12 16
d/hE ATH 20 25 24 21 26 26 17 17 22 26 28 18 26 26 27 32 29 33 24 24
d/hE 5TH 14 19 15 24 16 9 19 18 18 17 18 18 19 23 23 19 27 35 26 21
d/hE 6TH 23 25 33 21 23 26 17 24 28 28 33 21 33 32 40 28 30 31 35 36
d/hE 7TH 16 16 22 18 11 13 12 18 14 16 16 18 18 16 26 15 23 29 16 22
dt/ha 8TH 17 21 23 19 16 16 25 12 12 22 20 12 22 28 26 24 26 23 17 23
&5 477 481 509 501 490 462 497 515 524 504 576 560 589 657 682 647 674 726 554 648 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SH45E6H1H
R 767% 175% 787% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

ENY= 1TH 9 8 12 23 17 20 19 24 20 20 12 25 15 21 20 14 1 16 9 14
ENY= 2TH 5 7 8 12 5 9 8 12 11 8 4 8 5 9 2 7 5 7 6 3
ENY= 3TH 16 11 12 13 21 18 13 11 11 20 11 9 9 8 7 14 8 1 4 12
HINE 4TH 7 17 17 13 14 24 19 22 15 22 12 24 8 10 13 15 9 24 12 16
EXINY = 5TH 6 11 13 16 20 20 12 26 17 16 18 16 11 18 10 8 9 19 8 12
ENY= 6TH 4 15 19 17 10 15 14 17 17 17 13 15 6 15 9 8 9 14 8 24
NG 1TH 20 13 19 32 18 24 19 23 12 26 18 36 14 25 13 14 5 12 12 18
NG 2TH 6 12 5 13 8 7 6 16 6 12 13 6 4 5 4 5 2 11 2 6
NG 3TH 18 19 30 26 19 28 14 16 15 28 17 22 9 23 11 21 16 30 14 23
NG 4TH 16 15 15 21 13 20 14 11 13 26 10 16 7 14 9 13 7 12 4 16
NG 5TH 12 16 11 11 20 16 12 17 10 13 5 13 8 11 9 11 12 11 7 13
mE/INE 1TH 6 10 8 11 8 14 8 15 11 12 10 9 5 8 10 18 8 14 12 10
mE/NhNE 2TH 17 18 15 15 19 26 10 37 20 34 16 27 15 22 15 28 16 32 9 20
m/NhNE 3TH 12 20 10 14 16 21 15 23 19 26 16 17 9 18 10 9 9 13 10 15
mE/hNE ATH 14 13 16 9 13 27 22 17 20 26 13 27 11 13 8 14 12 17 13 14
mE/NhNE 5TH 12 19 18 16 24 14 17 27 9 28 12 19 10 19 9 14 9 18 11 22
mE/hNE 6TH 17 25 26 36 20 25 22 19 16 17 12 30 9 22 10 11 8 15 15 24
m/hNE 7TH 21 26 26 28 39 41 26 32 21 45 19 17 17 30 16 26 17 27 16 28
m/hNE 8TH 10 17 15 23 15 16 15 24 13 14 19 5 8 17 6 16 6 14 5 7
d/hE 1TH 12 13 6 8 10 15 10 14 10 14 4 12 3 8 1 1 2 7 4 6
d/hE 2TH 16 23 21 28 24 29 22 20 10 27 13 35 15 27 9 16 14 23 10 22
d/hE 3TH 9 2 13 14 8 10 12 15 10 18 7 16 10 15 7 12 4 12 9 13
d/hE ATH 14 13 22 23 19 26 16 32 21 25 15 26 8 22 7 18 16 19 17 13
d/hE 5TH 17 17 10 6 15 16 11 16 13 20 12 16 17 15 4 7 3 17 7 15
d/hE 6TH 20 15 14 33 19 21 23 20 22 30 8 21 20 26 11 15 13 21 12 19
d/hE 7TH 11 6 10 16 15 18 10 14 16 20 16 11 8 16 11 16 9 15 5 18
dt/ha 8TH 9 18 16 12 12 23 12 21 25 20 11 15 18 25 15 13 10 13 12 19
&5 336 399 407 489 441 543 401 541 403 584 336 493 279 462 256 364 249 444 253 422
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SH45E6H1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 11 23 8 9 11 11 3 5 4 10 2 7 0 8 3 4 1 5 0 2
ENY= 2TH 2 8 2 3 1 4 1 4 3 6 1 2 1 9 2 6 4 1 0 2
ENY= 3TH 5 14 8 9 5 13 2 5 7 6 4 6 2 9 0 5 0 3 0 5
RING 4TH 10 20 16 19 3 11 6 16 3 10 3 16 0 9 5 9 4 3 0 3
EXINY = 5TH 9 25 1 16 7 14 6 9 6 8 3 9 1 5 2 6 1 6 3 6
ENY= 6TH 10 16 4 10 6 11 4 15 5 10 5 4 1 5 2 7 1 3 1 5
NG 1TH 14 31 7 17 6 14 8 11 5 16 3 2 5 6 3 8 1 6 0 5
NG 2TH 4 12 2 4 5 3 4 3 0 4 0 5 1 5 0 3 1 7 0 1
NG 3TH 11 15 16 19 8 15 6 15 5 12 8 13 6 15 4 12 2 7 5 6
NG 4TH 8 7 6 15 3 14 6 16 2 8 6 5 1 3 0 4 0 1 1 3
m/IhNE 5TH 3 12 2 11 4 9 0 9 3 6 4 11 2 9 3 4 0 4 2 0
mE/INE 1TH 5 8 6 10 5 4 1 5 3 4 0 3 2 1 0 2 0 2 0 2
mE/NhNE 2TH 10 33 15 10 14 18 6 9 3 10 7 5 3 6 1 10 0 5 0 1
m/NhNE 3TH 8 13 6 11 5 6 4 12 1 7 3 9 9 4 3 7 0 5 1 4
mE/hNE ATH 7 25 6 20 6 8 8 9 4 9 4 12 2 5 0 5 1 1 0 1
mE/NhNE 5TH 7 18 4 15 4 11 4 10 4 13 7 8 0 7 4 6 1 8 2 7
mE/hNE 6TH 14 13 12 15 7 13 9 13 2 14 3 13 0 9 2 8 1 4 2 5
m/hNE 7TH 18 25 12 18 10 16 6 14 8 11 5 14 2 7 2 2 2 4 2 4
m/hNE 8TH 8 6 2 16 1 13 6 10 1 6 5 7 5 2 0 3 0 3 1 3
d/hE 1TH 3 14 4 6 5 4 2 5 3 6 1 2 2 0 0 2 0 4 1 1
d/hE 2TH 16 16 5 20 6 13 8 12 5 7 4 13 7 11 1 9 1 7 0 0
d/hE 3TH 6 6 6 9 4 6 3 3 3 6 2 3 0 3 2 3 2 0 0 4
d/hE ATH 15 12 12 19 4 8 7 11 9 10 3 9 3 10 3 5 1 5 0 5
d/hE 5TH 10 15 5 1 3 7 4 7 4 9 4 9 1 2 1 13 0 3 3 6
d/hE 6TH 5 11 8 19 8 8 10 14 3 12 4 10 2 7 5 4 0 1 2 5
d/hE 7TH 2 12 9 14 6 1 7 12 3 9 2 8 4 12 2 3 0 5 1 2
dt/ha 8TH 5 18 10 13 2 10 5 12 4 6 4 10 0 6 5 3 0 4 0 1
&5 226 428 194 358 149 275 136 266 103 235 97 215 62 175 55 153 24 107 27 89
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH4FE6H1H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2041 2,040
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 837 828
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,377 | 1,337
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1698 1,834
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0o/ 1860| 1,915
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1613 1,618
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2593 | 2628
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,111 1,060
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2539 2626
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1626 1,613
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,896 1,851
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,072 1,044
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,611 1,770
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,741 1,631
mE/hNE ATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1606 | 1,592
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1919 1,847
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1977 | 1,966
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2,771 2,709
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,792 | 1,735
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,139 | 1,219
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2609 2711
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,268 1,247
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2305| 2,163
d/hE 5TH 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1529 1517
d/hE 6TH 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2334 2250
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,628 1,641
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o/ 1814| 1874
&5 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 48,306 | 48,266
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